Best model for HELP J161826.103+554833.270 at z = 0.367 x2=1.68
OPTx2=1.73 IRx?=1.87 threshold (OPT IR)=10.94 [um]

Flux [m])y]

. Stellar attenuated
102 3 o T et Stellar unattenuated
] : —— Dust emission
1 m M —— AGN emission
| : = Model spectrum
10 5 . N M e Model fluxes
] . \[] M oObserved fluxes
100 4
1071 5 e
..':ﬂl,q-\,,w.
1072 - :
3073 4
= ' 1
© 1 i Obs-Mod)/Ob
3 ] |~ =4— (Obs-Mod)/Obs
o
(7]
] o [ SRR —— - [R-. — - — e -
b ]
o ]
2 1
5 ]
© —1 T T ———rrr —  CAGAL
(V]
o

10° 10! 107 103 10 A
Observed wavelength [um]



